Figures

Zonal- and time-mean distribution of zonal wind (U), mass stream function
(MSF), and temperature (Temp) are shown.
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Figure 97: MSF at 1 Pa at L;=0°-30°
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dcpam

at Lg=60°—

18

mass stream function
(18 ka/s)
1.0

T T T T
08
06
04
0z

0.0

mass stream function

Lol

s o o

© o &
T

10 L L L L

’“v

T time=6B880 hr

¢
Jlevel=1.0302 Pc

|
g

latitude

Figure 100: MSF at 1 Pa
120° by dcpam
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Figure 101: MSF at 1 Pa at Ly=120°-

150° by dcpam
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Figure 102: MSF at 1 Pa at Ly=150°—

180° by dcpam



mass stream function moss%reom function \

(1¢B ka/s) (168 ka/s)
1.0 1.0

T T T T T 1ime=73176 hr T T T T T time=76884 hr

(sum) fime:731 (sum) time:765
08 o {sum) time:735 08 H ¢sum) time:769
(sum) fime:739 (sum) time:773
c o0ef  tevel=1.0392 P c osf  level=1.0392 e
2 8
B 04 B T 04 4
e c
2 oz2f 4 2 ozl i
£ E
5 oo 5 oo y
i 2
7 02k i 5 -0zl 7
@ o4l ] 9 oal ]
S g
£ 06 B E o6 4
—08 1 B -08 i
10 . . . . . “10 . . . . .
-90 -60 -30 o 30 0 ~90 —60 —30 o 30 0
(degree_north) (degree_north)
latitude latitude

Figure 103: MSF at 1 Pa at Ly=180°— Figure 106: MSF at 1 Pa at Ly=270°—
210° by dcpam 300° by dcpam
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Figure 104: MSF at 1 Pa at L;=210°- Figure 107: MSF at 1 Pa at Ls=300°-
240° by dcpam 330° by dcpam
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Figure 105: MSF at 1 Pa at Ly=240°- Figure 108: MSF at 1 Pa at L;=330°-
270° by dcpam 360° by dcpam
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Figure 109: Temp at Lg=0°-30° by
dcpam
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Figure 110: Temp at Lg=30°-60°

by
dcpam
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Figure 111: Temp at Ly=60°-90° by
dcpam
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Figure 112: Temp at Ly=90°-120° by
depam
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Figure 113: Temp at Ly=120°-150° by
dcpam
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Figure 114: Temp at Ly=150°-180° by

depam
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Figure 115: Temp at Ly=180°-210° by

Figure 118: Temp at Ly=270°-300° by
dcpam
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Figure 116: Temp at Ls=210°-240° by Figure 119: Temp at Ly=300°-330° by
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Figure 117: Temp at Ly=240°-270° by

Figure 120: Temp at Ly=330°-360° by
dcpam
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